96T

|

G = x99

S xH o\) _ i
Q{x -x(xx) VP O x(m'q\ -

RS a o xtd=D =

1l & ? p
\ A4 ; ‘g
rF | f | \J_
| | i
| ,

«r
’

e —— .

29
!
O

v 41) 10X ) ﬂ- -y
A ——

20D )Y

Az

2
<
i
<
S
Al
Y e
x
4
i
oA
6
o<

:\ I‘
}J({
&

£

R

<

+

3

|

|

<

A

S

t
o<
<
>










\,F !)(.-gif _ _

o ET————

VIR =Bl Tk whare Gpacabda.
(4] KoHhL==0 o T o C ol atersect
D Y e S5+ tonstaurt (CRAE Jintersect

e rTr——




O e

.l X;i\_lxmt U9 =3 indswhere aparabola
" x2 +4.___l_£%x3;_+f<+9 -0 foling ntersect
e _ ; 3y . 2C1)=-

4:\“ _\’\AS__.UA woe O_ {)&X&bﬂhi o

a i‘vuuz teysecd
m?_ i 5\09- :_"_C{)( CD FO) iC&l Lb









